atl1*CurMon:Entry$

0.06

Urniviun

0.05

all |

0.04

0.03

0.02

0.01

| |

0
0

50

100 150 200 250 300 350 400 450

run4923 000 at atl1.png

Entry$

x10°

16000

14000

12000

10000

8000

6000

4000

2000

atl1*CurMon {ErrorFlag==0}

evilree

Entries 395675

Mean 0.05222

Std Dev 0.001391

I|I I|I |
0.052 0.054 0O

056 0.058
atl1 *CurMon

40000

30000

20000}

10000

asym_atl1/ppm:pattern_number {ErrorFlag==0}

L
R

A

|

| W
| S
a4
W W

xé L1l
[ S8
X T

:

s

O

(i
{
|

e

L
s

O

“:_:,;"

10000

20000

30000 40000

50000
pattern_number

180

170

160

Overflow  1.74de+04
150} |[ [ 1k
140} I l
13n}— ' L
120
N | | I | | I I | | I I | | | | I

~3000 -2000 -1000 0 1000 2000 3000

ppm

asym_atl1

Entries

Mean

Std Dev

49391

-1.817

1712

Underflow 1.716e+04




atl2*CurMon:Entry$

0.01—
0.005—
I i :
ﬂ—r||||||| [ 1 |IIII|IIII|IIII|IIII|IIII|IIII|III
0 50 100 150 200 250 300 350 400 450
Entry$

run4923 000 at atl2.png

x10°

14000
12000
10000
8000
6000
4000

2000

g

atl2*CurMon {ErrorFlag==0}

-|IIII

evilree

Entries 395675

0.01803

Mean

Std Dev  0.0006514

015 0.016 0.017 0.018 0.019

0.02 0.021
atl2*CurMon

50000

40000

30000 x%
200004

10000

0

10000

20000

30000

40000

asym_atl2/ppm:pattern_number {ErrorFlag==0}

III|"_::-{'III

e

.
*

0

10000

20000

30000

40000 50000
pattern_number

150

140

130

120

asym_atl2

I_I
—

|

Entries 49391
Mean B.772
Std Dev 1720

Underflow 1.864e+04

Overflow 1.875e+04

{H{

11n§— J
100H- J
90— [
_IIII|||||||||I|IIII|IIII|IIII
_3000 -2000 —1000 0 1000 2000 3000
ppm




atr1*CurMon:Entry$

0.07

Urniviun

all |

|
0.04 |
0.03

0.02

0.01

H
|IIII|IIII|IIII|IIII|IIII|IIII|III

0 50
run4923 000 at atrl.png

100 150 200 250 300 350 400 450

Entry$

x10°

atr1*CurMon {ErrorFlag==0}

18000 :— Entries 395675
16000 - Mean 0.0596
14000
- Std Dev  0.001322
12000
10000
8000
6000
4000
2000
:Illlll III|III|III|II II||III|I
0b52 0.054 0.056 0.058 0.06 0.062 0.064 0.066 0.068

atr1*CurMon

40000

30000

20000

10000

asym_atr1/ppm:pattern_number {ErrorFlag==0}

T

et
o Sood e

ke

-
HE R

10000 20000 30000 40000 50000
pattern_number

asym_atﬂ

B Entries 49391
‘IBD:— Mean -11.68

N Std Dev
170~ | [ )

_: J Underflow 1.73e+04
160 [ |

T Overflow 1.706e+04
15“5_%;’ ik 1! [ Il

i [ JJ-L —
14[]: _l | F h ‘1
130ff ' Ll

15 iy
120{f+

:I I 1 1 | | I | | | I I | | I I | | I | | I |
-3000 -2000 -—1000 0 1000 2000 3000

ppm




atr2*CurMon:Entry$

D.DEE
0.02
0.015
0.01

0.005

1 | | | | | |
1 N I I v I I

0 50
run4923 000 at atr2.png

100 150 200 250 300 350 400 450
Entry$

x10°

18000

16000

14000

12000

10000

8000

6000

4000

2000

atr2*CurMon {ErrorFlag==0}

evilree

Entries 395675

Mean 0.02337

Std Dev 0.0006263

':‘_lllllllllllllllllllllII|III|III|III|

021 0.022 0.023 0.024 0.025 0.026

atr2*CurMon

40000

30000

20000}

10000 f

10000 {

20000 {

30000

40000

asym_atr2/ppm:pattern_number {ErrorFlag==0}

et
hd

.
HUE

=

I
i
|

R,

o R
Lt

Hoox

e

TANN
i, ¥,
=

0 10000 20000 30000 40000 50000
pattern_number

asym_atr2

m Entries 49391
150 B Mean ~3.59
B Std Dev 1718
1404t o
- Underflow 1.824e+04
| L [ J Overflow 1.842e+04
1301+ ﬂj
| I
1201+ h L
! ] ﬂ _
110— ]
B L1 1 1 | I I | | I I | I I | L1 1 1 | I I
-3000 -2000 -1000 0 1000 2000 3000
ppm




asym_atll

asym_atl2

asym_atrl

asym_atr2

run4923 000

0.03
0.02

0.01

-0.01
-0.02

-0.03

0.04
0.03
0.02

0.01

-0.01
—-0.02
-0.03

-0.04

0.03
0.02

0.01

—-0.01
-0.02

-0.03

—-0.01
-0.02
-0.03

-0.04

asym

a | s
—a0c

—35(

—30(C

-0.03 -002 001 O 0.01 002 003 004
asym_atll

—{ast
"I o

—40(

—35(

-0.03 -0.02 -0.01 0 0.01 002 003 0.04
asym_atl1

—45(

—40(

—35(

—30(C

u
II|IIII|IIII|IIII|IIII|IIII|IIII|IIII
-0.03 -0.02 001 O 0.01 002 003 004
asym_atll
]
- - —a5(
—40(
—35(

= 50

II|IIII|IIII|IIII|IIII|IIIIIIIII|IIII _D

-0.03 Z0.02 001 O 0.02 03 0.04

at mutu

B —
| - 0 —45(
0.03
- —40(
0.01E - —30¢
- 25(
o
- - 20¢
-0.01
N 15(
- m
-0.021- 10¢
-0.03f >0
T | | 11 11 | L1111 | 1111 I L1 11 | 1111 | L1 11 I L1 11 | 1111 | 1111 ,D
~0.04-0.03-0.02-0.01 0 0.01 0.02 0.03 0.04 0.05
asym_atl2
ah— [
| n —45(
0.04F
- —{40¢
0.03F
- —{35¢
0.02F
- —{30¢
0.01
- 25(
O
- 20(
—0.01F
- 15(
-0.02F
- 10(
-0.03F
: 50(
~0.04
'I'IlIIIIlIIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII ,D
~0.04-0.03-0.02-0.01 0 0.01 0.02 0.03 0.04 0.05
asym_atl2
ah_ [
| - —45(
0.03
- —40(
0.02 —(35¢
0.01 P
0
-0.01F
~0.02(~
-0.03- >0
TlllllllIIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII {]
~0.04-0.03-0.02-0.01 0 0.01 0.02 0.03 0.04 0.05
asym_atl2
s
0.04
| - —45(
u.naz— laoc
0.02 —35¢(
0.01F —30(
{]:— 25(
-0.01F 20t
: 15¢
-0.02F
- 10¢
-0.03F
- 50
-0.041

al"correlation-COEZ.

0.03

0.02

0.01

-0.01

-0.02

-0.03

0.04

0.03

0.02

0.01

-0.01

-0.02

-0.03

-0.04

0.03

0.02

0.01

-0.01

-0.02

-0.03

-0.01

-0.02

-0.03

-0.04

png

- —as(
—40c

—35(

—30(C

25(

u 20(

15

10C

50
| -

-0.03 -0.02 001 O 0.01 002 003 004
asym_atri

—45(

—40(

—35(

—30C

25(

20(

15(

10C

= 50

-0.03 -0.02 -0.01 0 0.01 002 003 0.04
asym_atri

—45(

—40(

—35(

—30(C

25(

20(

15(

10C

50C

-0.03 -0.02

-0.01 O

0.01 002 003 004

asym_atri

—45(

—40(

—35(

30(

25(

200

15

10C

50

-0.03 -0.02 -0.01 O 0.01 002 003 004
asym_atri

0.03

0.02

0.01

-0.01

-0.02

-0.03

-0.04 -0.03-0.02-001 O

as

I
0.04

0.03
0.02
0.01
0
-0.01
-0.02

-0.03

-0.04

0.01 0.02 0.03 0.04
asym_atr2

-0.04 -0.03-0.02-001 O

as

I
0.03

0.02

0.01

-0.01
-0.02

-0.03

0.01 0.02 003 0.04
asym_atr2

-0.04 -0.03-0.02-001 0O

as

0.04
0.03
0.02

0.01

—0.01
-0.02
-0.03

-0.04

0.01 0.02 0.03 0.04
asym_atr2

-0.04 -0.03-0.02-001 0O

0.01 0.02 0.03 0.04
asym_atr2

45(

40(

35(

30(

25(

20(

15(

10(

50

45(

40(

35(

50

45(

40(

35(

45(

40(

35(

30(

50(C



asym_atll

asym_atl2

asym_atrl

asym_atr2

run4923 000

asym_atll

72 | ndf

p1

15.81/18

p0  -3.857e-07 £ 1.224e-06

0.9989 = 0.0003

(RN

—0.01

-0.02

-0.03

-|-II|IIII|IIIIIIIII|IIII|IIII|IIII|IIII

2 { ndf

p0

p1

-0.03 -0.02 -0.01

asym_at]1

13.11/18

7.821e-06 £ 5.271e-05

0.01244 £ 0.01256

0 0.01

LA L e

-0.005

—-0.01

g -

0.02 003 0.04

iy

ﬂ

|
M‘

'I'IIIIIII|IIIIIIIII|IIII|IIII|IIII|IIII

2/ ndf

p1

-0.03 -0.02 -0.01

asym_atll

18.21 /18

p0  -5.054e-05 = 4.220e-05

0.001823 £ 0.010020

0 0.01

L e,

-0.005

-0.01

i

|

0.02 003 0.04

me*ﬁwwwﬁhﬂﬁ

|

1

'I'IIIIIII|IIIIIIIII|IIII|IIII|IIII|IIII

2 { ndf

p0

p1

-0.03 -0.02 -0.01

asym_at]1

2027718

1.996e-05 £ 5.118e-05

0.01903 £ 0.01221

0 0.01

0.004

0.002

0

-0.002

-0.004

-0.006

0.02 003 0.04

J{HTFH*W #W%H*ﬁfﬁm WJ

|

|

-|'II|IIII|IIIIIIIII|IIII|IIII|IIII|IIII

asym

-0.03 ~0.02 -0.01

mu

at

0

tu

0.02

03 0.04

al corre

asym_at]2

72 [ ndf

po 3.557e-06 £ 3.848e-05

2411 /25

o1 0.002108 + 0.005817
oL | {m} i ettt
C [T T
0005 | ]
_0.01-

1
b
A |

—0.04-0.03-0.02-0.01

asym_at]2

2 ndf

pl

pld  -9.825e-07 £ 1.371e-06

0 0.01 002 0.03 0.04 0.05

4616/ 25

0.999 £ 0.000 =

0.01

-0.01

-0.02

-0.03

_'D..n4' 1 |

—0.04-0.03-0.02-0.01

asym_at]2

0.01

0.005

-0.005

-0.01

-0.015

-0.02

0 0.01 002 0.03 0.04 0.05

2 | ndf

| .
| .

2567 /25

—3.943e-05 £ 3.782e-05

—0.00566 £ 0.00569

+

| e

—0.04-0.03-0.02-0.01

0.006

0.004

0.002

0

-0.002

-0.004

-0.006

-0.008

0 0.01 002 0.03 0.04 0.05

+2 { ndf

po 2.108e-05 £ 4.596e-05

p1 —0.006579 £ 0.006931

31.8/25

| *ﬂﬂwﬁwﬁwﬁﬁ*ﬂ

l{].ﬂ-'-l— 0@-0.02-0.01

d

02 0.03 0.04 0.05

ion-fit.png

0.015

0.01

0.005

-0.005

-0.01

-0.015

asym_atrl

2 { ndf

p0

pi

|

|

I

i

£
:
—

sty M

72 [ ndf

43.04 / 38

po 8.515e-06 £ 3.580e-05

Pl -0.005876 £ 0.005314

i

N'

-0.03 -0.02 001 O

;

|
|

—

asym_atrl

0.01

0.02 0.03 0.04

¥2 / ndf

3603/ 38

pO 5.723e 05 £ 4 416e 05

Pl —0.0009113 + D.006B0ES

-0.03 -0.02 001 O

46.07 / 38

7.853e-07V £1.010e-06

0.9993 £ 0.0002

(LR

-0.01

-0.02

-0.03

asym_atrl

0.01

0.02 0.03 0.04

-0.03 -0.02

-0.01 O

2 | ndf 59.21 / 38
p0  2.969e-05+ 4.262e—05
o1 0.008369 + 0.006400

oF |

_0.005-

—0.01—

_0.015-

0.01

0.02 0.03 0.04

++%WW

-0.03 -0.02

-0.01 O

0.01

0.02 0.03 0.04

0.006
0.004
0.002
0
-0.002
-0.004
-0.006
-0.008
-0.01

-0.012

0.015

0.01

0.005

-0.005

-0.01

-0.015

-0.02

p0

p1

'I'I|IIII|IIII|IIIIIIIII|IIII|IIII|IIII|IIIIIII

asym_atr2

|

72 [ ndf

2045/ 22

po 3.428e-05 £ 4.023e-05

i H#H{r%ﬁﬁﬁ:ﬁ:ﬁ“; ﬁ \1‘[‘" e

-0.04-0.03 -0.02-0.01 0O

asym_atr2

S|

=+

0.01 0.02 0.03

0.04

2 { ndf

38.28 /22

p0 8.398e-05 £ 4.953e-05

Pl —-0.004066 £ 0.008736

* it A
W e it

-0.04-0.03 -0.02-0.01 0O

asym_atr2

%2 / ndf

—-4.17e-05 £ 3.94e-05

0.008716 £ 0.006944

0.01 0.02 0.03

0.04

20.29 [/ 22

-0.005

-0.01

-0.015

-0.02

p0

pi

-

!

f

|

J[

} Jri‘Hf#HH’f#W%WHHH}J[H *H]l
H

-

-0.04-0.03 -0.02-0.01 0O

asym_atr2

2 | ndf

0.01 0.02 0.03

0.04

2885722

—3.905e-07 £ 1.345e-06 =

0.9991x 0.0002 =

(LR

-0.01

-0.02

-0.03

-0.04

-|_||IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIIIIII

-0.04-0.03 -0.02-0.01 0O

0.01 0.02 0.03

0.04




asym_atll

asym_atl2

asym_atrl

asym_atr2

run4923 000

0.03

0.02

0.01

-0.01

-0.02

-0.03

0.04

0.03

0.02

0.01

-0.01

—-0.02

-0.03

-0.04

0.03

0.02

0.01

—-0.01

-0.02

-0.03

0.04

0.03

0.02

0.01

—0.01

-0.02

-0.03

-0.04

-0.02 -0.01

0.02 0.03 0.04

asym_atll

-0.02 -0.01

0.02 0.03 0.04

asym_atl1

0.02 0.03 0.04

asym_atll

-0.03 Z0.02

asym at mu

03 0.04

ual~corre

© 0.03

0.02

0.01

-0.01

-0.02

-0.03F
TIlIIIIlIIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII

-0.04-0.03-0.02-0.01 0 0.01 0.02 0.03 0.04 0.05
asym_atl2

as

0.04

0.03

0.02

0.01

-0.01

-0.02

-0.03

,

A S
-

-0.04

+I|IIII|IIII|IIIIIIIII|IIII|IIII|IIII|IIII|IIII

-0.04-0.03-002-0.01 0 001 0.02 0.03 0.04 0.05
asym_atl?

as

- 0.03

0.02

0.01

-0.01

-0.02

-0.03

-0.04-0.03-0.02-0.01 0 0.01 0.02 0.03 0.04 0.05
asym_atl2

as

0.04

0.03

0.02

0.01

-0.01

-0.02

-0.03

=
I|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|I

-0.04
II|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII

l{].ﬂd-—f%{lﬂE—{lﬂ‘l 0 001 0.02 003 0.04 0.05

ation-scat.png

© 0.03

0.02

0.01

-0.01

-0.02

-0.03

0.04

0.03

0.02

0.01

-0.01

-0.02

-0.03

-0.04

- 0.03

0.02

0.01

-0.01

-0.02

-0.03

0.04

0.03

0.02

0.01

-0.01

-0.02

-0.03

-0.04

© 0.03

-0.03 -0.02 001 O 0.01 002 003 004

asym_atri

-0.03 -0.02 001 O 0.01 002 003 004

asym_atri

-

- 0.03

-0.03 -0.02 001 O 0.01 002 003 004

asym_atri

-0.03 -0.02 001 O 0.01 002 003 004

asym_atri

0.02

0.01

-0.01

-0.02

-0.03

-0.04 -0.03-002-001 0 0.01 0.02 0.03 0.04
asym_atr2

as

0.04

0.03

0.02

0.01

0

-0.01

-0.02

-0.03

-0.04

-0.04 -003-002-001 0 001 002 003 0.04
asym_atr2

as

0.02

0.01

-0.01

-0.02

-0.03

-0.04 -0.03-0.02-0.01 O 0.01 0.02 0.03 0.04
asym_atr2

as

0.04

0.03
0.02

0.01

-0.01

-0.02

s
i

-

-0.03

=
I|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|I

-0.04
I|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|I
-0.04 -0.03-0.02-0.01 O 0.01 0.02 0.03 0.04
asym_atr2




